How does the XP-Grade
work?

We vergelijken het hebben van genoeg XP met het hebben van een dijk die sterk en hoog genoeg is.
Niet alleen voor de zeespiegel zoals hij is. Maar ook voor een lichte stijging of een storm.

SCENARIO 1: Negative Outcome
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Sufficient XP Insufficient XP Problematic Worrying All hands on dyke

SCENARIO 2:

6.0

Sufficient XP Sufficient XP, pupil has more XP
than before, but the sea level has also risen.
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Sufficient XP, pupil has much more
than before. In fact, much more XP than required at this time.

than the sea level has risen.
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Sufficient XP, pupil has more XP

c 10.0

6.0
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Sufficient XP, pupil no longer Sufficient XP, it is the end of the year. pupil
has 'much more' because they has much more XP than required at this time.
stopped working. The grade returns to

a 6.0 because the sea level continues to rise.



